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OAFSE HMI = AF 8,651
— FHI XA 222 48,190 * 2% x 18Y 1,735
— FHI A HER2E 46,000 * 3% = 12 1,656
—E2XA 222¥ 48,190 * 2% x 25 2,410
—2XA UHZEed 43,950 * 3% x 20 2,637
— 28202, 6M) 8,519,000 * 2.5% 213
O Al = AF 6,526
— ZHIRAF 222¢ 48,190 * 3Y¥ x 3¢ 434
— FHI XA ZAREA 46,000 * 1799 = 2¢ 1,564
— 2 XA 222¥ 48,190 * 3% x 15 2,169
— a2 43,950 * 58 x 10& 2,198

_6_




NIl
Bu: SAN0 2H NN Yo (LUBIHI/ABHE)
Hel: ot KRS SHIA - 22 (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
—EE= (08, 4M) 6,427,000 * 2.5% 161
201 LEr2A | 62,919 40,150 22,769
5,177
[ia 57,742
01 AtR 22l | 62,419 40,150 22,269
Oger==EH| 32,600
— =0 N 70,000 = 10H 700
—SHEMNES(EIR S) 600,000 600
— AFSI =AY 17,282
zzle =4 100,000 » 33| » 4H 1,200
M W 35,000 » 120% 4,200
gl 3 5,000 » 1,5002t= = 110% 8,250
- ZAME & 2l 3,632,000 3,632
— (Z)AFSI = AL 18
SAEZMNES (IR ) 18,000 18
=) 18
—SHHE &2t 40,000 » 350% 14,000
o2g+¢ 29,819
— A=A X239 =Y
100,000 = 33| = 4H 1,200
— XANRE ¢ 23,460
- MM EA EEAL ZAIRE
46,000 = 1798 = 15¢ 11,730
- M2 EA EXZAF AR E
46,000 = 1798 = 15¢ 11,730
—(ZIMBIZA ZARE ¢ 5,159,000 5,159
=) 5,159
02 =224l 500 0 500
OZ2Z223LHA 500
—SHAIMAUE LS RERS 500,000 500
202 Oddl 880 580 300
< 180
s 700
01 = LH 4 di 880 580 300
OAS A = At 20,000 = 1H = 15 300
OAEI Z A & & A AL 20,000 = 1# = 20« 400
O(Z )AL Z A 180,000 180
) 180
NAZE HE(2ELXNGMNLE/NSL T Al 390,000 1,220,000 A 830,000
SEYE 23 Hd 390,000 1,220,000 A 830,000
Meetd Fol 230,000 1,020,000 A790,000
207 & O & H] 230,000 370,000 A 140,000
01 2284 230,000 370,000 A 140,000




BRI
3 NE2E WL (ELXNGML/NAL A
ool sEME B WA CER-ED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
OXIEoHe POOL &< HI 230,000, 000 230,000
ootz g5 X 160,000 200,000 A 40,000
401 AIEHI L 20 160,000 200,000 A 40,000
01 A& HI 160,000 200,000 240,000
OlZZgaXNAAAZ 160,000
—2HNSE T2FH £ NMEANE EX =
At 20,000, 000 20,000
- STHWYY B4 U BM
20,000, 000 20,000
—==cl NEZH SA 20,000, 000 20,000
— =12l =2 ZHISA 20,000,000 20,000
—SolE2Y Sttel 02 ZEISA
20,000, 000 20,000
— WS WF A == FH SA 20,000, 000 20,000
—wst 27 EEEHH SA 20,000, 000 20,000
—0l=1c BARUHY LA R SA
20,000,000 20,000
ollgl ol (oliBlBl/oilBlbl) ,818,311 4,125,184 A 1,306,873
ol bl bl ,818,311 4,125,184 A 1,306,873
ol Bl gl ,818,311 4,125,184 A 1,306,873
801 GilHI bl ,818,311 4,125,184 A~ 1,306,873
01 ollBl8l ,818,311 4,125,184 A 1,306,873
Ouuldl sl 2,818,311,000 ,818,311
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Jl2&l 50,215 48,117 2,098
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